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1 Basic Identities

Identity 1.1 (Stride Identities).
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Identity 1.2 (Stride Factorizations).
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Identity 1.3 (Tensor Product Identities).
(
Im⊗An×n

)
= Lmn

m

(
An×n ⊗ Im

)
Lmn

n(
An×n ⊗ Im

)
= Lmn

n

(
Im⊗An×n

)
Lmn

m(
Im⊗An×n

)
Lmn

m = Lmn
m

(
An×n ⊗ Im

)

Lmn
n

(
Im⊗An×n

)
=

(
An×n ⊗ Im

)
Lmn

n

1



1.1 Parallel Identities

Identity 1.4 (Parallel Stride Identities).
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Identity 1.5 (Parallel Leaf Identities).
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Identity 1.6 (Parallel Recursion Identities).
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1.2 Vector Identities

Identity 1.7 (Vector Stride Identities).
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Identity 1.8 (Vector Leaf Identities).
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Identity 1.9 (Vector Recursion Identities).
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